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No.
P, | M| M2
(W) a (kN)
(N/mmz) &0 (“)
ndo 0 35.99 |2160 872 0.926(1.107

nd1000 [1000 |51.08 2625 984 10.975|0.906

nd3000 |3000 |51.08 2625 1052 |0.800|0.863

nd5000 |5000 |35.99 2160 748 ]0.557)0.960

n0 0 53.08 1998 1122 ]0.801|0.931

nl1000 |1000 |35.99 2160 612 ]0.666|1.103

n3000 3000 |35.99 2160 898 ]0.930|0.958

n5000 |5000 |51.08 2625 1006 |0.792|0.892

hdo 0 61.41 2387 1126 |0.777]1.254

hd1000 |1000 |76.99 2673 1348 |0.680(0.963

hd3000 |3000 |76.99 2673 1504 |0.765|0.830

hd5000 |5000 |61.41 2387 834 10.510]0.947

ho 0 70.16 1565 1260 |0.7040.736

h1000 1000 |61.41 2387 898 ]0.559/0.681

h3000 |3000 |61.41 2387 606 [0.393)|0.742

h5000 |5000 |70.16 1565 1248 |0.709]0.789
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